-

10

“ogyj oy a B ARRUAL Al Ul ALLSA AU A 518 58] B 7

(A) 58 WHRER (B) Heizasus 2

(C) aitlew (D) st -l (E) Not attempted
w19t Al ABRAL A 512 ot ?

(A) Y3rldHer (B) cusalasis u2ed

(C) seqgreus) craeis (D) ¥l A8 (E) Not attempted
1S &¢ Herul-l uzid ad 2009 Hi A uen sui 4 edl ?

(A) 2ele (B) Alsusl

(C) e (D) 54l (E) Not attempted
B2 ael sumi wvio el At A Wi sdl zu uay s34 8 7

(A) Gl (B) 2L

(C) 1B 2ulEst (D) dz2d=dls (E) Not attempted
wRA wFsiR ARFUH S50 d-miell 513 Rl vival siudg § 7

(A) AL YA (B) -aRufst

(C) [reell daiud (D) Gusel duy (E) Not attempted

Lt adlea s AL SR et dl iR vl vied Bed s tad
Seandl ssrury ABd 8 ? | '

(A) 46 ¥l (B) 44+l

(C) 42l (D) 48 4l (E) Not attempted
Bt AR wiwiEs disioil Al sui 2 cru s ?

(A) will-u (B) dp@ieml

(C) WHM (D) Huz% (E) Not attempted

Yoell 2sapell and sl ordiadl wllean 22 wist 51 ol Aot s3Brud sieicus
B

(A) v eiet 30 (B) o @t 30

(C) v sz 300 (D) =15 e 3[R (E) Not attempted
Sz 2i1e 4 1oL Yot 208 Ul Yaolsrll Qs 519 el ?

(A) blsiL UHEL (B) 2l 5l 2[Asis

(C) Brdl- as (D) o3 .54 53R (E) Not attempted
R wuRis wsdl 2orud-ll oudl st us- sl udl ?

(A) ®dd (B) d1211%

(C) &3u (D) s (E) Not attempted
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20

allzats A ARl viRaR otdl gIRL 54 e sl ud 6 7

(A) el e (B) A3 4t

(C) 3wl (D) Rzl 44 (E) Not attempted
Als sel AR Aoud A5 gl sl Meeaysl Yaas siani »ud § ?

(A) s 4edl yzasiz (B) »alaade Hauell yaasiz

(C) BEMAUM Y2512 (D) -xRie Medl Y3812 (E) Not attempted
Breflu fall 23¥l 32U BA et AL 2R Wedld - oseuel,

(A) [Ea-ua si-e (B) 2lla 214l

(C) dor ouLsy (D) Yl c41282 (E) Not attempted

1893 i [Eseixi suddl AldeiRs Eas] yRye-ll aassiz aBlqn sl Fesgs
s vudl edl ?

(A) 2l [asi-ie (B) Helleus

(C) U ML UYL (D) Guilsd sk 4dl  (E) Not attempted
iy WL 22us 519 el ?

(A) @2l sRu (B) ll 2 =1 w2

(C) Bropartelm v (D) *uds1sl (E) Not attempted
sl SURSE 2atisd »ilsus § ul dagd-Al iuns et ?

(A) E-le Budlae (B) [Bgaous ueq

(C) Mz il : (D) ¥4Msia -uE@  (E) Not attempted

9portet-dl Alell Hi2l Hde suL e ?
(A) Boru Wda (sisdl) (B) aall Ream Wy (adle)
(C) woL M (o4%) (D) 3% YA (adlex) (E) Not attempted

auelateil AR A Yz 251z @ 2l Hecausiall Ao Raz s-2-ll o dousd
bedl ey ?

(A) 10.5 B3 (B) 11.5 &4l

(€)12.5 B.AL (D) 13.5 [5.41. (E) Not attempted
ol He ARen yrislld A . B

(A) sl su-igloit y2e (B) #xfa aysi- Breel

(C) M Y4 2@z (D) #llxla 23y[d Sl (E) Not attempted
Alriell sun 20 gAsisl ‘aef dd2e wde’ adll weé sA 8 ?

(A) wLae-ll aid (B) %-wa-l Guasiz [Beal

() el cua (wem) (D) sis3l4L dous (E) Not attempted
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27

29

wRalwll UMl 541 eied Gaul gan ?
(A) Yt (B) luiaua
(C) ¥m=t (D) uisdl (E) Not attempted

Rsisiz, Meusiz x4 aldaasiz Fdl syl nlhen wua-uz 4 & ¥-u Raw

(A) syl gl (B) »4cit By
(C) =auz YAy (D) Guziell #1354 <l  (E) Not attempted

Uletiit yraisfl stdsio e At waur il sisell-l Razll 34 wadl
Sl WA AR psuz wldal. ...

(A) "acu gueusll (B) g4l dis

(C) €1 Hel (D) G-l rg (E) Not attempted
[Bror flan wall moruzey sy Breami »udg & ?

(A) w3l (B) ursiz

(C) Yol (D) MM (E) Not attempted
anRedls il suL 26 »udd & 7

(A) vigl-u (B) Hu131

(C) alzst D)ydl (E) Not attempted
Al niell 565 420 RByg ngadidl ad & ?

(A) FErus 21 By (B) Brau w4 uld

(C) B-ust, A 24 Hady (D) Bz, Ri-ust, [, Addy s 430
(E) Not attempted

Ayel ae wid been died dlu e ?

(A) 18 332 _ (B)203%32

(C) 22 %32 (D) 24 332 (E) Not attempted
wislluad % ya sill a2dl Y g ?

(A) HUSIBIL i 6ULR 9423 (B) MRS i vlemsals 2ioeie] 928
(C) 6Ub 2t &3 33 (D) L5612 Bi=l BN Hell\ a2

(E) Not attempted

dgad Hird adlad arsu see AR dlu & ?

(A) 100° (B)37°

(C) 38.6° (D) 40° (E) Not attempted
e -l [umeunl sedl oisst ¢ ?

(A) 180 (B) 182

(C) 190 (D) 202 (E) Not attempted
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adlzii suell Gervell siuelldla wu e 7

(A) 2l (B) 25cs

(C) Syfan (D) »uiefl #isust dl (E) Not attempted
il Wl AR ‘BUieYR' o YRS 4B ?

(A) %1213 (B) e

(C) weat (D) a4313 (E) Not attempted
aprate-il {rasall Ao wee giat MiRal Yrau M2 A3 sudd deuedH ...
(A) 1090 (B) 100

(C) 181 (D) 1098 (E) Not attempted
sl w2l (s a) wowe weld & ?

(A) 1R w2 (B) Guale sisal 32

(C) 610 e (D) wRcue W2 (E) Not attempted
ol Ak g unaL v 8 ?

(A) dele] £oUSL (B) dldiq2, soust

(C) didl eoust (D)Mart-il 43t (E) Not attempted
‘QRAIE GLAAL HIZ Il TS USEAYS HIE B UE B2d.. ...

(A) Bus . (B) dadl

(C) Heslz (D) w4l (E) Not attempted
vivll GAA 248 WR O - @it usuMl ‘G we i 8 ?

(A) -4 (B) Ad-uu

(C) s (D) st (E) Not attempted
‘pedaid’ AL qMiuell aee. ...

() wli@ (B) 53l

(C) »ouy (D)l (E) Not attempted
‘s’ uoed Wy [regv...... ]

(A) IHIR (B) a8is

(C) BH2 (D) ®2aud (E) Not attempted
‘Gl siow A W séadn addl R sdad 5668 ?

(A) 4™ 52t s udl (B) -l Bueell -4l £19 Ma‘j be Cancle
(C) ol s Hlsi (D) ¥\ i %y (E) Not attempted
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AL noeiHiall s4l aee ‘g’ Al qHeuell el

(A) YL (B) uall

(C) sz (D) ¥4 (E) Not attempted
(2o uin »ilav]l ol

(A) = (B) <auBt

(C) udat (D) #aucea (E) Not attempted
o A WD ?

(A) HelEla-sury (B) #5le-1g - Heudueeldl

(C) Aumel g (D) 2lRame-GYus (E) Not attempted
BE SR LAl - Gadi Wi ool Fe.

(A) Gurt (B) 3us

(C) 2=y (D) ADAUIIYSL (E) Not attempted

13 2uden wxaHiol Heue eyl HHA 2EL dizdl.

(A) 2324 (B) &R

(C) yrelvll (D) udat (E) Not attempted
*a{a;;al WAL 2l uosqe M s a0k 4l 7

(A) »-uBs (B) %+l

(C) qadl (D) 2udl (E) Not attempted
‘se’ wse-ll AH-uel aee 2L ?

(A) sz (B) 4-t8l

(C) 2uz - D)W (E) Not attempted
sl e ‘wiguy’ -l arudl & 2

(A) 21 (B) »yd

(C)4e (D) 21y (E) Not attempted
‘sl noel [A3aell uoe............... .

(A) A2U013 (B) Yud+t

(C) 1yt (D) AdiRq (E) Not attempted
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(A) ¢igl (B) ®eus

(C) HeM-us (D) 4§ (E) Not attempted
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‘el da-r sle ?

(A) diRsd (B) didl

(C) szdll2ul (D) o514 (E) Not attempted
‘St G5’ Wed .. ...,

(A) U™l @8 - 2uug (B) Ay e s3]

(C) [&ud setiqdl (D) st #icizefll 52l (E) Not attempted
‘3R Al Wl aoe 2d L.

(A) 2l (B) 4554

(C) Y3uzL (D) %3 (E) Not attempted
olle’ il Qzadl uss........... 8

(A) M (B) e

(C) ueius (D) 3= (E) Not attempted
ugLlll oumy wsereu-l e »led .

(A) s191€1 (B) &3¢t [Qant

(C) s1al@eu (D) -t [Ren (E) Not attempted
NS A Qs d§lae gl 8 - wesR aedl

(A) asilgua (B) u¥s

(C) Gwa . (D) vy (E) Not attempted

‘iRt 2t WglA WA ¥ WY’ - sdedsl e
(A) Wlet-it % [AR14M1 2uag (B) Wizl »iau #el s

(€) s dan el (D) eid oleddl Habe 6

(E) Not attempted

‘el A [Azel uoe 2ied

(A) Beusidl (B) wufu

(C) wstadl (D) Basurdl (E) Not attempted
“Wiid Gu Bde’ - sdad-l wiof 2lzd

(A) walui 51y (B) vt vl uedl et -rwg

(C) v 53l »i2sg (D) wialui ey waf (E) Not attempted
‘Ul 91520 €A Awle A Gl U2l - sdad-l el sdad 568 % ?

(A) 31 34 51 oidl (B) -l H121- el w2y

(C) ux oudll dla s3g (D)t slleuMi 4492t (E) Not attempted
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(A) eusn (B) wssu
(C) vioye (D) buag,
62 ‘WA »led..
(A) &ML (B) Hulet A-ud
(C) diead (D) uRBxIdvE]
63  ‘uelsd’ woel el aee sql 6 7
(A) w¥au (B) »Ané~
(C) 51812 (D) avu
64 ‘AR sul au s ?
(A) ¢ (B) cugsllle
(C) ey (D) 2 leug
65  ‘yAwew used AARAG.............. 8.
(A) Y=t + Sueu (B) Y= + viueu
(C) YA + #nau (D) Yol + uau
66  ‘vlaL SUL AU T
(A) {14 (B) Guue
(C) &3y (D) defay
67 ‘" @Adl o,
(A) A=[E~ (B) -l
(C) Hasudl (D) &1l -1z
68 698 17 2&R-AL el ?
(A) sRel (B) -l
(C) y=l (D) Helstwil
69 “BLil 2is AN wled
(A) Bae-ll 82 %S addq (B) Rila uia sadl
(C) d gl s34l (D) gt o
70 “eid g A" wled
(A) wlaay el siiadl (B) &Iz s94@ s3]
(C) Elrtctiell 138 % (D) Guzlsd st
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(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted

(E) Not attempted
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gzl saitdl sl udlaumi o5 e Ande & 22d 3 ddl

(A) 95 251 HL5d oL & (B) 100 ¥iell 95 Realel-u xusu druell az &
(C) A8 5 2s1ay MSu Aneud (D) 1004l 95 Raldlsili-u 2udy d-usll sied
(E) Not attempted

240,039+ 1.67 + 1.2= cenemmemme
(A) 3.909 (B)4.306
(C) 4.909 (D) 3.809 (E) Not attempted

215 ol Bde aGeseil 2z 280 {22 6. 215 Weltdlal »i MG-iel sl 215 Yss2
adadl bed iR sug W ? (m=22/7)

(A) 440 2z (B) 880 l2:
(C) 220 ¥l (D) 330 *lex (E) Not attempted
42,60 4L 70 -l @.uL. du . 48 7
(A) 420 L2 (B) 2 d1420
(C) 440 auL 5 (D) 420 daL 5 (E) Not attempted
3L. 5000 4 8% @ J2eu a¥ g ey 3. 2800w ?
(A) 8 (B) 5
(C) 6 (D) 7 (E) Not attempted
A4 =08 4 0 =i
(A) 10 ., (B)43
(C) 46 (D) 49 (E) Not attempted
36 y® x 21 y3 =

28y*
(A)9y* ®)21y3
(©)27y° (D) 21 y? (E) Not attempted
9 x2 - 30 x + 23 i kea Gizuell yelas[ Bruel & ?
(A) 13 (B)6
(©)2 (D)1 (E) Not attempted
» ada-ll g WREIR Mg Yot ... 8.
(A)mr+d B)2nr+d
(C)3nmr (D)4 xr (E) Not attempted
1GAM. =..... 084
(A) 1.6 e (B) 0.6214 1
(C) 3.28 Wi (D) 2.2803 s (E) Not attempted
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87

89

215 s12619 Fusiami Al 2l susgd w10 .1, de »ls ouzgd a8 A B ol
e ouagd WY ..onenenne il

(A) 4341 (B) 6 4.

(C)sa.M. (D) 3 .M. (E) Not attempted

a’xabbxa’ =

a%b*

(A) a’b’ (B) a®b®

(C)a’b? (D)a’b? (E) Not attempted

(3x-7y)*.

(A) 9x2-49y2 (B) 9x2 - 42xy + 49y?

(C) 9x2 + 42xy + 49y? (D) 6x2-21xy + 14y2 (E) Not attempted

Bsieu 516 wa @RAGEHIL 23l sugg 43 SRaUME Ul o . ..., 54 69,

(A) 12U (B) 2y

(C) Brrw (D)dy (E) Not attempted

yeustz Ba e uzs . .............. 8.

(A) 0 (yra) B) 1

(C) -1 (D) @Lsus -l (E) Not attempted
- eiiuellarse, 2414l : AID -

(A) Supervision : (B) Co-operation

(C) Assistance (D) Disease (E) Not attempted

Mi-uell 215 Ul : CONSEQUENCE

(A) Manner ? (B) Result

(C) Cause (D) Order (E) Not attempted

[A3guell ase »uMl : DEFICIT

(A) Superfluous ! (B) Surplus

(C) Explicit (D) Implicit (E) Not attempted

[A3zgl uve »udl : VERSATILE

(A) Permanent | (B) Volatile

(C) Unsteady (D) Attractive (E) Not attempted

wiell oyt Y3 :

The doctor warns him that unless he gives up smoking .
(A) will he be able to recover (B) he will not suffer
(C) his health will soon be recovered (D) he will not recover (E) Not attempted
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99

100

vl ooyl Yzl
My mother is so poor

(A) to send me to school. (B) because she will not work.

(C) to get medical help for my father (D) that she cannot buy food for us.

(E) Not attempted

vyiefl ooy Y3 :

Twenty five years a long time.

(A) am (B) is .

(C) are (D) none (E) Not attempted
vl oyt Yzl

At this time yesterday, I in the river.

(A) were swimming (B) was swimming

(C) has swum (D) am swimming (E) Not attempted
viell ooy yil :

The teacher ordered Kamal to leave the room and him to return.

(A) stopped (B) refused

(C) forbade (D) challenged (E) Not attempted
Give meaning of : To give a false colouring.

(A) To misinterpret (B) To submit false report

(C) To be dishonest (D) To conceal the facts (E) Not attempted

Give meaning of : to be lost in the clouds.

(A) to be perplexed

(B) to find oneself in very uncomfortable position
(C) to be concealed from the view

(D) to fly deep in the clouds

(E) Not attempted

Find correct spelling

(A) benificial (B) bineficial

(C) beneficial (D) banificial (E) Not attempted
Find correct spelling :

(A) Riceive '(B) Receve

(C) Receive (D) Recieve (E) Not attempted

Wnite passive form of : Their dog bit our neighbour yesterday.
(A) Our neighbour bit their dog yesterday.

(B) Our neighbour is bitten by their dog yesterday.

(C) Our neighbour was bitten by their dog vesterday.

(D) Our neighbour was bit by their dog yesterday.

(E) Not attempted '

Write indirect form of : The police said the thief : “ Don’t move.”
(A) The police ordered the thief not to move.

(B) The police ordered the thief that he should not move.

(C) The police told the thief that he did not move.

(D) The police ordered to the thief to not move.

(E) Not attempted
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